X4 F Zhongwén mingzi

ot A F

Family name + First name

= M



Ask for a person’s family name (formal)
A: 158), Rzt 7 [5FRA, IREX 7]

Qing weén, ni gui xing? What’s your family name, please?

B: ZZ=F, {RIE?

WO xing Li, ni ne? My family name is Li. How about you?

A S,

W06 xing Gao. My family name is Gao.



Ask for a person’s family name (casual)
A: 1519, R4 ? [FER, RIETEE?]

Qing wen, ni xing shenme? What's your family name,
please?

B: Z=F, {RIE?

WO xing LI, ni ne? My family name is Li. How about you?

A: BES,

W0 xing Gao. My family name is Gao.



Ask for a person’s full name
A: 1FE], YRt 4 45 ? [BER, fRUHEERF 2]

Qing wen, ni jilao shénme mingzi? What's your name, please?

B: T, {RIE ? or FEXH,

W0 jiao Weénzhong, ni ne? My name is Wenzhong. How about
you?

A F/ NS,
WO jiao Xiaoyin. My name is Xiaoyin.



Ask someone’s name who is familiar
A: i&o), RS XS 2 R, RS XHIE ? ]

Qing wen, ni jlao Gao Wénzhong ma?
Is your name Gao Wenzhong? Or Are you Gao Wenzhong?

B: TS XA,
W0 jiao Gao Weénzhong. My name is Gao Wenzhong.

or

B: AU E X,

W0 bu jiao Gao Wénzhong. My name is not Gao Wenzhong.




Ask someone’s profession
A: RZZITNG ? [{REZEE ?]

Ni shi laoshi ma?
Are your a teacher?

B: ZE2E M [ EHR, ]

W04 shi laoshi. | am a teacher.
or
B: A ZZI, [T 2 ZEM, ]

WO bu shi laosht. | am not a teacher.



The Particle B (de) s

Y is generally required:

ZIP[ZEMN AT, LT RNA T, ZRNEE[E L], T/
B A

Y is omitted in colloquial speech after a personal pronoun
(close relationship):

F GO IENE] HEE ; Tl FANFHMIR



Measure words

M{E](ge/gé): most common

— AN [—fEA] vyigerén a person (A1 A liang ge rén)

— PN ZIM[—{EZER] yi ge ldoshi a teacher (F~ZIMH[R1EZEM])
— NP AE[—EZ 4] yi ge xuéshéng a student (A NFEE[MREZ4A))
XA [[EEA] zheégerén this person

BN [FMEIAN] nagerén that person



[— 1T FR B[R R O E R
The Tone Sandhi of I—]

[ — )+ 4 7= S B =[5 ] +4th and Neutral Tone

— 1~ A vyigerén
[—1+1, 2, 3 =[&F]+ Ist, 2nd, and 3rd Tone
— #4245 vi béi cha
— R\ 5= yi ping kélé



[ IR BFE[ R AN R]
The Tone Sandhi of & ]

A I+ 4 7 M B2 7 [ AEF] + 4th and Neutral Tone
I~z bu shi
[F1+1, 2, 3 7]+ Ist, 2nd, and 3rd Tone
T 4F bu hao
A8 Ll bu kéyi



Adjective as predicates using {E (hén) (very)

When an adjective functions as a predicate, it is not preceded by the verb & (shi) (to
be)

:Iui

ESKREEM, [(BESXESE, ] WO jintian hén gaoxing. I'm very happy today.
ik ik 1E;ES . Ta méimei hén pidoliang. His younger sister is very pretty.

BRI, [BMEEFELF, ] Na ge dianying hén hdo. That movie is very good.

IRIITKRFE R, IR KE1E KAdjective as predicates using {8 (hén) (very) o] Nimen
daxué hén da. Your university is very large.



Adjective as predicates using {E (hén) (very)

When an adjective functions as a predicate, it is not preceded by the verb & (shi) (to
be)

Q: RBBEEME ? [{REB B EE 2] Ni didi gdo ma? Is your younger brother tall?
A: fth{ESE, Ta hén gdo. He is very tall.

Q: RER KL ? [{RZE KM 2] Ni jia da ma? Is your house big?
A: BZRAK, 1B/, WS jia ba da, hén xido. My house is not big; it's very small.



Adjective as predicates using {E (hén) (very)

L. = —é—
&5%5% IE.Io_>

BRHKSK_ T, —>

TP 8F [EREIFX _ F.]—>




